
 

 
Railway Recruitment Board 

MECHANICAL

Volume - 11 

RRB PYQ CBT 2 
Tech 

https://d30dniaih0pjva.cloudfront.net/wp-content/uploads/2024/07/04183829/bhaag-2-sankhyaatmak-evan-taarkik-yogyata.pdf




Engineering Mechanics 1

RRB Previous Year Questions

Engineering Mechanics1
Chapter

RRB : JUNIOR ENGINEER

1. A man is standing on a boat in still water. If he

walks in the boat towards the shore, the boat

will :

(a) Move away form the shore

(b) Remain stationary

(c) Move towards the shore

(d) Sink

[RRB-JE : 2014]

2. What is the force in the vertical member CD of

the pin - jointed frame shown below ?

7T

C

D

5T

A B

(a) 12 T (Tension)

(b) 2T (Compresion)

(c) 7T (Compression)

(d) 5T (Tension)

[RRB-JE : 2014]

3. For perfectly elastic bodies, the value of

coefficient of restitution is :

(a) Zero (b) 0.5

(c) 1.0 (d) 0.25

[RRB-JE : 2014]

1. ,d vkneh fLFkj ikuh esa uko ij [kM+k gSA  ;fn og

uko esa fdukjs dh vksj pyrk gS] rks uko

(a) fdukjs ls nwj pyh tk,xh

(b) fLFkj jgsxh

(c) fdukjs dh vksj c<+sxh

(d) flad

[RRB-JE : 2014]

2. uhps fn[kk, x, fiu-tkabV Ýse ds yacor vo;o

CD esa cy D;k gS\

7T

C

D

5T

A B

(a) 12T (ruu)

(b) 2T (laihM+u)

(c) 7T (laihM+u)

(d) 5T (ruu)

[RRB-JE : 2014]

3. iw.kZ çR;kLFk fudk;ksa ds fy,] izR;oLFkku xq.kkad dk

eku gS

(a) 'kwU; (b) 0.5

(c) 1.0 (d) 0.25

[RRB-JE : 2014]
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4. ,d dBksj fia.M ij dk;Zjr rhu cyksa ds ifj.kke] fn'kk

vkSj fØ;k js[kk dks Øeokj ,d f=Hkqt dh rhu Hkqtkvksa

}kjk iznf'kZr fd;k tkrk gSA ;s cy ,d ,sls cy;qXe ds

lerqY; gSa] ftldk vk?kw.kZ______ds cjkcj gksrk gS-

(a) f=Hkqt ds {ks=Qy

(b) f=Hkqt ds {ks=Qy ds vk/ks

(c) f=Hkqt ds {ks=Qy ds rhu xqus

(d) f=Hkqt ds {ks=Qy ds nks xqus

[RRB-CBT : 29.08.2019]

5. fdlh fn, x, fn'kk esa dbZ cyksa ds fo;ksftr ?kVdksa

dk chtxf.krh; ;ksx] mlh fn'kk esa muds ifj.kkeh

cy ds fo;ksftr ?kVd ds cjkcj gksrk gSA bls_____ds

:i esa tkuk tkrk gS-

(a) fodYiksa esa ls lHkh

(b) cyksa dh lapj.k'khyrk fl)kUr

(c) cyksa dh LokoyEcu dk fl)kUr

(d) cyksa ds fo;kstu ds fl)kar

[RRB-JE : 29.08.2019]

6. v/kZoÙ̀k dk xq#Ro dsUnz] yEcor f=T;k ij ekis tkus

ij blds vk/kkj ls_____dh nwjh ij fLFkr gksrk gS-

(a)
3r
8 (b)

8r
3

(c)
3r
4 (d)

4r
3

[RRB-JE : 29.08.2019]

7. W = 20 kN Hkkj okyk ,d CykWd] {kSfrt ls 30o ds

dks.k okys vkur ry ij fojkekoLFkk esa j[kk x;k

gSA vkur ry ds lekukarj xq#Ro cy ds ?kVd dk

eku Kkr dhft,-

(a) 10 kN (b) 14.14 kN

(c) 17.32 kN (d) 5 kN

[RRB-JE : 29.08.2019]

8. dwyke ?k"kZ.k_____ds chp yxus okyk ?k"kZ.k cy gS-

(a) nks 'kq"d lrgksa

(b) lkis{k xfr okys fiaMksa

(c) nks Lusfgr lrgksa

(d) Bksl ,oa nzo inkFkksZa

[RRB-JE : 29.08.2019]

4. Three forces acting on a rigid body are

represented in magnitude, direction and line of

action by the three sides of a triangle  taken in

order. The forces are equivalent  to a couple

whose moment is equal to-

(a) The area of the triangle

(b) Half the area of the triangle

(c) Thrice the area of the triangle

(d) Twice the area of the triangle

[RRB-JE : 29.08.2019]

5. The algebraic sum of the resolved parts of a

number of forces in a given direction is equal to

the resolved part of their resultant in the same

direction. This is known as-

(a) All of the options

(b) Principle of transmissibility of forces

(c) Principle of independence of forces

(d) Principle of resolution of forces

[RRB-JE : 29.08.2019]

6. The center of gravity of a semi-circle lies at a

distance of________from its base measured along

the vertical radius.

(a)
3r
8 (b)

8r
3

(c)
3r
4 (d)

4r
3

[RRB-JE : 29.08.2019]

7. A block weighing W = 20 kN is resting on an

inclined plane which makes an angle of 30° to

the horizontal. The component of gravity force

parallel to inclined plane is-

(a) 10 kN (b) 14.14 kN

(c) 17.32 kN (d) 5 kN

[RRB-JE : 29.08.2019]

8. Coulomb friction is the friction between-

(a) Two dry surfaces

(b) Bodies having relative motion

(c) Two lubricated surfaces

(d) Solids and liquids

[RRB-JE : 29.08.2019]
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9. ,d /ofu rjax dh vkòfÙk 50 Hz gS vkSj bldh

rjaxnS/;Z 4 ehVj gSA 3 lsdaM esa /ofu rjax }kjk r;

dh xbZ nwjh Kkr dhft,-

(a) 200 ehVj (b) 100 ehVj

(c) 300 ehVj (d) 600 ehVj

[RRB-JE : 29.08.2019]

10. 4 m/s2 dk Roj.k mRiUUk djus gsrq 236 kg nzO;eku

okys fiaM ij yxk;k tkus okyk cy Kkr dhft,-

(a) 944 N (b) 59 N

(c) 118 N (d) 472 N

[RRB-JE : 30.08.2019]

11. ;fn '' nks cy P vkSj Q ds chp dk dks.k gS] rks cy

P ds lkis{k ifj.kkeh '' dh fn'kk }kjk cuk dks.k

________}kjk iznf'kZr fd;k tkrk gS-

(a)  = 
1 Qsin

tan
P Qcos

  
   

(b)  = 
1 Psin

sin
P Qcos

  
   

(c)  = 
1 Qsin

sin
Q Pcos

  
   

(d)  = 
1 Psin

cos
Q Pcos

  
   

[RRB-JE : 30.08.2019]

12. vk?kw.kksZa ds fl)kar (principle of moments) ds vuqlkj-

(a) ;fn leryh; cyksa dk fudk; larqyu esa gS] rks

mudk chtxf.krh; ;ksx 'kwU; gksrk gSA

(b) fdlh Hkh fcUnq ij yxus okyh fdlh Hkh nks cyksa

ds vk?kw.kksZa dk chtxf.krh; ;ksx] ml fcUnq ij

ifj.kkeh vk?kw.kZ ds cjkcj gksrk gS

(c) /kukRed vkSj _.kkRed cy;qXe larqfyr gks ldrs gSa

(d) ;fn leryh; cyksa dk fudk; larqyu esa gS] rks

ml ry esa fLFkr fdlh fcUnq ds lkis{k muds

vk?kw.kksaZ dk chtxf.krh; ;ksx 'kwU; gksrk gS

[RRB-JE : 30.08.2019]

13. ;fn ,d ǹ<+ fudk; ij dksbZ cká vk?kw.kZ u yxk;k tk,]

rks blds tM+Ro vk?kw.kZ vkSj bldh ?kw.kZu v{k ds lkis{k

dks.kh; osx dk xq.kuQy fu;r jguk pkfg,] ;g

fdldk dFku gS\

(a) cyksa dk lekUrj prqHkqZt dk fu;e

(b) cyksa ds cgqHkqt dk fu;e

(c) cyksa dk f=Hkqt dk fu;e

(d) dks.kh; laosx ds laj{k.k dk fu;e

[RRB-JE : 30.08.2019]



9. The frequency of a sound wave is 50 Hz and its

wavelength is 4 m. What is the distance travelled

by the sound wave in 3 s?

(a) 200 m (b) 100 m

(c) 300 m (d) 600 m

[RRB-JE : 29.08.2019]

10. The force applied on a body of mass 236 kg to

produce an acceleration of 4 m/s2 is-

(a) 944 N (b) 59 N

(c) 118 N (d) 472 N

[RRB-JE : 30.08.2019]

11. If '' is the angle between two forces P and Q,

then the angle made by the direction of the

resultant '' relative to the force P is given by

(a)  = 
1 Qsin

tan
P Qcos

  
   

(b)  = 
1 Psin

sin
P Qcos

  
   

(c)  = 
1 Qsin

sin
Q Pcos

  
   

(d)  = 
1 Psin

cos
Q Pcos

  
   

[RRB-JE : 30.08.2019]

12. According to the principle of moments-

(a) If a system of coplanar forces is in

equilibrium, then their algebraic sum is zero

(b) The algebraic sum of the moments of any

two forces about any point is equal to the

moment of the resultant about the same point

(c) Positive and negative couples can be balanced

(d) If a system of coplanar forces is in equilibrium,

then the algebraic sum of their moments about

any point in their plane is zero

[RRB-JE : 30.08.2019]

13. “If no external torque acts on a rigid body, then

the product of its moment of inertia and the

angular velocity about the axis of rotation must

remain constant “ is the statement of-

(a) Law of paralleleogram forces

(b) Law of polygon of forces

(c) Law of triangular forces

(d) Law of conservation of Angular momentum

[RRB-JE : 30.08.2019]
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1. Ans. (a)

The boat will start moving away from the shore.

2. Ans. (d)

3. Ans. (c)

The Coefficient of Restitution (COR) is the ratio

of the final to initial relative velocity between

two objects after they collide. It normally ranges

form 0 to 1 where 1 would be a perfectly elastic

collision.

4. Ans. (d)

5. Ans. (d)

6. Ans. (d)

7. Ans. (a)

30°
W

W
 si

n30°

The component of gravity force parallel to

inclined planes is

= W sin30°

= 20 × 
1

2
 = 10 kN

8. Ans. (a)

9. Ans. (d)

Frequency = 50 Hz

Wavelength = 4 m

The Velocity of wave

= Frequency × Wavelength

= 50 × 4 = 200 m/s

Distance travelled by the sound wave in 3 sec.

= 200 × 3 = 600 m

10. Ans. (a)

F = ma

= 236 × 4

= 944 N

11. Ans. (a)

12. Ans. (d)

13. Ans. (d)



RRB : JE

ANSWERS AND EXPLANATIONS


